Name

Addition Word Problems

Score

WPA:09

Anne purchased a system software for $55 and an antivirus for $19. How much
did Anne spend altogether?

A Christmas tree is decorated with 28 red balls and 35 green balls. How many
balls in all were used for the decoration of the tree?

Shirley’s cattle farm raises 84 Jersey cows and 14 buffaloes. How many
livestock animals does the cow rear in all?

25ml of water is added to 55ml of concentrated hydrochloric acid to dilute it.
What is the quantity of the acid after diluting it?
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Name
@ Addition Word Problems Score

Answer key WPA:09

1) Anne purchased a system software for $55 and an antivirus for $19. How much
did Anne spend altogether?

74 dollars

2) A Christmas tree is decorated with 28 red balls and 35 green balls. How many
balls in all were used for the decoration of the tree?

63 balls

3) Shirley’s cattle farm raises 84 Jersey cows and 14 buffaloes. How many
livestock animals does the cow rear in all?

98 livestock animals

4) 25ml of water is added to 55ml of concentrated hydrochloric acid to dilute it.
What is the quantity of the acid after diluting it?

80 ml
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